										1		BID TABUL	ATION SHEET									1		
BID NUMBER# 21ITB125258C-CG									OPENING DATE:	4/20/2021					PAGE NUMBER:									1 of
BID DESCRIPTION: Janitorial Services for Se	elected Fulton	County Facili	ties (Groups C, D	& G)		_				· · · · · ·				·								·		
REQUESTING DEPARTMENT: Real Estate an	nd Asst Manag	jement					CO	NTACT			CON	ТАСТ			CO	NTACT			CON	TACT			CO	NTACT
			VENDOR CO					OR CODE				R CODE				OR CODE				DR CODE			VEND	DR CODE
			ATLA172992	2-A			VS00	00022827			VS0000	073404			VS000	00063451			VS000	0007048			VS00	0028215
		A	VENDOR NAM													OR NAME		000.01			Comulação las			
		Am	erican Facility Ser ADDRESS				A-Action Janit	DRESS	nc.		3H Service S	RESS			Brooks Environm	DRESS	IS, LLC		eaning, Inc. /DBA Q	DRESS	Services, inc.			Corporation DRESS
-		1325	Union Industrial C					ibble Street,				etts Road,			4062 Peachtre		631			ecrest Drive				field Ct, SW
			Alpharetta, GA 3					a, GA 30058				GA 30519				en, GA 30319				kle, GA 30134				GA 30331
			TELEPHON					EPHONE			TELEP					PHONE				PHONE				PHONE
			(770) 740-161 CONTACT:					526-7421 NTACT:				26-3169 FACT:				384-9223 NTACT:				572-1440 ITACT:				145-6789 ITACT:
			Kevin McCar					ara Storey				Heo				Brooks				eatherstone				men Okoro
o Building	Sq. Ft.	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	t Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months
GROUP C (Central & Auburn, MLK, Peachtree, and Mechanicsville																								
Libraries) Original Term 2021																								
Central Library																								
Total Sq. ft.	295,000																							
Cleanable Sq. Ft.	247,800	\$0.0706	\$17,494.68	12	\$209,936.16	\$0.05	\$12,390.00	12	\$148,680.00	\$0.58	\$11,977.00	12	\$143,724.00	\$1.36	\$28,084.00	12	\$337,008.00	\$1.08	\$22,302.00	12	\$267,624.00	\$0.10	\$24,780.00	12
Auburn Research																								
Total Sq. ft.	69,910																							
Cleanable Sq. Ft.	58,724	\$0.0800	\$4,697.92	12	\$56,375.04	\$0.10	\$5,872.40	12	\$70,468.80	\$0.57	\$2,789.39	12	\$33,742.68	\$1.50	\$7,340.50	12	\$88,086.00	\$1.08	\$5,285.16	12	\$63,421.92	\$0.10	\$5,872.40	12
MLK Public Library																								
Total Sq. ft.	4,128																							
Cleanable Sq. Ft.	3,468	\$0.2000	\$693.60	12	\$8,323.20	\$0.33	\$1,144.44	12	\$13,733.28	\$0.50	\$144.50	12	\$1,734.00	\$1.70	\$491.30	12	\$5,895.60	\$2.00	\$578.00	12	\$6,936.00	\$0.10	\$346.80	12
4 Peachtree Library																								
Total Sq. ft.	9,800																							
Cleanable Sq. Ft.	8,232	\$0.1700	\$1,399.44	12	\$16,793.28	\$0.14	\$1,152.48	12	\$13,829.76	\$0.49	\$366.14	12	\$4,033.88	\$1.46	\$1,001.56	12	\$12,018.72	\$2.00	\$1,372.00	12	\$16,464.00	\$0.10	\$823.20	12
5 Mechanicsville Library																								
Total Sq. ft.	6,700																							
Cleanable Sq. Ft.	5,628	\$0.1700	\$956.76	12	\$11,481.12	\$0.20	\$1,125.60	12	\$13,507.20	\$0.50	\$234.50	12	\$2,814.00	\$1.13	\$529.97	12	\$6,359.64	\$2.00	\$938.00	12	\$11,256.00	\$0.10	\$562.80	12
Total Cost for Janitorial Services					\$302,908.80				\$260,219.04				\$185,778.36				\$449,367.96				\$365,701.92			
Day Porters																								
FACILITIES	Daily Hours	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour
6 Central library	32	251	8,032	\$13.50	\$128,512.00	251	8,032	\$17.25	\$138,552.00	251	8,032	\$14.75	\$118,742.00	251	8,032	\$17.27	\$138,712.64	251	8,032	\$15.00	\$120,480.00	251	8,032	\$20.00
Auburn Library	2	251	502	\$13.50	\$8,032.00	251	502	\$17.25	\$8,659.50	251	502	\$15.25	\$7,655.50	251	502	\$17.27	\$8,669.54	251	502	\$15.00	\$7,530.00	251	502	\$20.00
8 Total Cost Day Porters	34	251	8,534	\$13.50	\$136,544.00	251	8,534	\$17.25	\$147,211.50	251	8,534	\$30.00	\$126,127.50	251	8,534	\$17.27	\$147,382.18	251	8,534	\$15.00	\$128,010.00	251	8,534	\$20.00
Total Cost for Group C (Orginal Term 2021)																								
Total Cost for Janitorial Services					\$302,908.80				\$260,219.04				\$185,778.36				\$449,367.96				\$365,701.92			
Total Cost for Day Porters					\$136,544.00				\$147,211.50				\$126,127.50				\$147,382.18				\$256,020.00			
Total Cost for Group C					\$439,450.80				\$407,430.54				\$311,905.86				\$596,750.14				\$621,721.92			
													•										·	
GRAND TOTAL:					\$1,090,669.20	0			\$1,391,091.23	3			\$881,298.75	5			\$1,382,928.32	2			\$1,378,366.37	,		
BIDS MAILED		NO RESPON	SE:																			DATE RECE	IVED:	
BIDS RECEIVED:		NO-BIDS:				CONTACT: 0	Consuela Glass, AF	PA, Team C														DATE COMP		
							,																	

			1 of	2	
			1 of 3	3	
		CON	ТАСТ		
		VENDO	R CODE		
		VS0000	0028215		
		VENDO	R NAME		
Services, Inc.		Chi-Ada C	orporation		
			RESS		
			field Ct, SW GA 30331		
			PHONE		
			45-6789		
			TACT: nen Okoro		
Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12	Annual Cost	
			Months		
					Z
					NON RESPONSIVE
					ESP
\$267,624.00	\$0.10	\$24,780.00	12	\$297,360.00	ONS
. ,	·				ŝive
					VEN
\$63,421.92	\$0.10	\$5,872.40	12	\$70,468.80	VENDORS
				, , , , , , , , , , , , , , , , , , , ,	S AI
					AND
\$6,936.00	\$0.10	\$346.80	12	\$4,161.60	OTHE
\$6,000.00		\$010100	12	<i>QH</i> ,101.00	R
					IFOR
\$16,464.00	\$0.10	\$823.20	12	\$9,878.40	OTHER INFORMATION
φ10, 1 04.00	ψ0.10	ψ023.20	12	\$3,070.40	ION
\$11.256.00	¢0.40	¢562.90	12	¢c 752 c0	
\$11,256.00	\$0.10	\$562.80	12	\$6,753.60	
\$365,701.92				\$388,622.40	
	Days Per		Cost Per		
Cost Per Year	Year	Hours Per Year	Hour	Cost Per Year	
\$120,480.00	251	8,032	\$20.00	\$160,640.00	
\$7,530.00	251	502	\$20.00	\$10,040.00	
\$128,010.00	251	8,534	\$20.00	\$170,680.00	
\$365,701.92				\$388,622.40	
\$256,020.00				\$170,680.00	
\$621,721.92				\$559,302.40	
\$1,378,366.37				\$1,273,868.08	
		/ED:			
	DATE COMPL	ETED:			

BID NUMBER# 21ITB125258C-CG									OPENING DATE:	4/20/2021					PAGE NUMBER:								
BID DESCRIPTION: Janitorial Services for S	Selected Fultor	County Facili	ies (Groups C, D	& G)					I					I				I				1	
REQUESTING DEPARTMENT: Real Estate a	and Asst Manag	gement	VENDOR CO	nF			VEND	OR CODE				TACT R CODE			VENDO	R CODE			VEND	OR CODE		_	VENDO
			VENDOR NA						Inc			R NAME						1					VENDO
	_		C Global Energy				United Maintena		, INC,	В	uckhead Elite Con		st, LLC		Pritchard Glob	- 1	LC			nitorial Service			
	-		ADDRESS					DRESS				RESS				RESS				DRESS			ADD
~	7310 Woodw	ard Ave.			Detroit, MI 48202	1550 S. In	diana Avenue 6	60605	Chicago, II		3535 Peachtree R Atlanta, (oad, Ste. 520- GA 30326	·168		3645 Marketplace Atlanta,	e Blvd., Ste 13 GA 30344	641			con Street gh, GA 30253			
	_		TELEPHON	E			TELI	EPHONE			TELEF	HONE			TELE	PHONE				EPHONE			TELEP
			(313) 263-50	20			(312)	922-8558			(770) 8	56-6828			(678) 2	52-9079			(470)	236-0991			
			CONTACT				CO	NTACT:			CON	TACT:			CON	TACT:			COI	NTACT:			CONT
		1	Tusher Pate				Vicki Ro	sen-Sanetra			Denise	Edlow	I		Rohai	n Brown	1		1				
o Building	Sq. Ft.	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost
GROUP C (Central & Auburn, MLK, Peachtree, and Mechanicsville Libraries)																							
Original Term 2021																							
Central Library																							
Total Sq. ft.	295,000																						
Cleanable Sq. Ft.	247,800	\$0.1585	\$39,286.40	12	\$471,436.90	\$0.118	\$29,272.99	12	\$351,275.85	\$0.05	\$12,390.00	12	\$148,680.00	\$0.42	\$118,944.00	12	\$1,427.328	\$0.6	\$14,868.00	12	\$178,416.00		
2 Auburn Research																							
Total Sq. ft.	69,910																						
Cleanable Sq. Ft.	58,724	\$0.1585	\$9,310.14	12	\$111,721.80	\$0.146	\$8,557.37	12	\$102,688.49	\$0.15	\$8,808.60	12	\$105,703.20	\$0.48	\$28,187.00	12	\$388,244.00	\$0.6	\$9,787.00	12	\$117,444.00		
MLK Public Library																							
Total Sq. ft.	4,128																						
Cleanable Sq. Ft.	3,468	\$0.1585	\$549.81	12	\$6,597.83	\$0.200	\$693.35	12	\$8,320.19	\$0.95	\$3,294.60	12	\$39,535.20	\$0.48	\$1,664.00	12	\$19,968.00	\$0.6	\$2,080.00	12	\$24,960.00		
Peachtree Library																							
Total Sq. ft.	9,800																						
Cleanable Sq. Ft.	8,232	\$0.1585	\$1,305.10	12	\$15,661.29	\$0.173	\$1,420.59	12	\$17.00	\$0.89	\$7,326.48	12	\$87,917.76	\$0.48	\$3,951.00	12	\$47,412.00	\$0.6	\$4,939.00	12	\$59,268.00		
5 Mechanicsville Library																							
Total Sq. ft.	6,700																						
Cleanable Sq. Ft.	5,628	\$0.1585	\$892.26	12	\$10,707.21	\$0.186	\$1,048.36	12	\$12,580.32	\$0.89	\$5,008.92	12	\$60,107.04	\$0.48	\$2,701.00	12	\$32,412.00	\$0.6	\$3,376.00	12	\$40,512.00		
Total Cost for Janitorial Services					\$616,125.02				\$491,911.96				\$441,943.20				\$1,865,364.00				\$420,600.00		
Day Porters																							
FACILITIES	Daily Hours	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year		
Central library	32	251	8,032	\$20.84	\$167,364.88	251	8,032	\$20.61	\$234,086.65	251	8,032	\$12.00	\$96,384.00	251	8,032	\$15.50	\$124,496.00	251	8,032	\$15.00	\$120,480.00		
7 Auburn Library	2	251	502	\$20.84	\$10,460.26	251	502	\$20.19	\$14,336.24	251	502	\$12.00	\$6,024.00	251	502	\$15.50	\$7,781.00	251	502	\$15.00	\$7,530.00		
Total Cost Day Porters	34	251	8,534	\$20.84	\$177,824.34	251	8,534		\$248,422.89	251	8,534	\$12.00	\$102,408.00	251	8,534	\$15.50	\$132,277.00	251	8,534	\$15.00	\$128,010.00		
Total Cost for Group C (Central Libraries)																							
Total Cost for Janitorial Services					\$616,125.02				\$491,911.96				\$441,943.20				\$1,865,364.00				\$420,600.00		
Total Cost for Day Porters					\$177,824.34				\$248,422.89				\$102,408.00				\$264,554.00				\$256,020.00		
Total Cost for Group C					\$793,949.36				\$740,334.85				\$544,351.20				\$2,129,918.00				\$676,620.00		
GRAND TOTAL:					\$1,620,318.27				\$1,837,840.18				\$3,447,814.92				\$3,909,179.00				\$676,620.0		
BIDS MAILED		NO RESPON	SE:				Consuela Glass, Al															DATE RECEIV	/ED: .ETED:

			1 of	3	
		VENDO	R CODE		
			R NAME		
		ADD	RESS		
		TELEP	PHONE		
		CON	TACT:		
Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	
					NON
					RESF
\$178,416.00					SNOG
					IVEV
\$117,444.00					END
					ORS ,
					ND
\$24,960.00					ОТНЕ
					R N
\$59,268.00					RESPONSIVE VENDORS AND OTHER INFORMATION
					IATIO
					Z
\$40,512.00					
\$420,600.00					
Cost Per Year					
\$120,480.00 \$7,530.00					
\$128,010.00					
\$420,600.00					
\$256,020.00					
\$676,620.00					
\$676,620.00		/ED:			
	DATE RECEIV				
	DATE COMPL	EIED:			

ESCRIPTION: Innitorial Services	for Soloctod Eulton	County Eacilities	(Groups C D 8 G)						OPENING DATE:	4/20/2021					PAGE NUMBER:									2 of 3	
DESCRIPTION: Janitorial Services QUESTING DEPARTMENT: Real Esta											CONT	ACT													
			VENDOR CODE ATLA172992-A				VENDOF VS0000	R CODE			VENDOR VS00000				VENDO	R CODE 0063451			VENDOR VS0000					0028215	
			VENDOR NAME					R NAME			VENDOR				VENDO				VENDOR					DR NAME	
		Ame	rican Facility Servic	es, Inc.			A-Action Janito	rial Service, Inc.			3H Service S	ystem, Inc.			Brooks Environme	ntal Solutions, LL	C	QCS Clea	aning, Inc. /DBA Qua	ality Cleaning Sei	vices, Inc.		Chi-Ada C	Corporation	
<u>_</u>			ADDRESS				ADDF	RESS			ADDR	ESS			ADD	RESS			ADDR	RESS			ADD	RESS	
			nion Industrial Cour Alpharetta, GA 3000	-			6607 Tribl Lithonia, e	ble Street GA 30058			1610 Plunk Buford, G			4062 Peachtree F	Road NE, A631 GA 3	0319	Brookhaven,		6308 Linec Douglasvilkl					onee Drive le, GA 30135	
			TELEPHONE				TELEP	PHONE			TELEPH	HONE			TELEF	PHONE			TELEP	HONE			TELE	PHONE	
			(770) 740-1613 CONTACT:				(678) 52 CONT				(678) 920 CONT				(470) 38	84-9223 ГАСТ:			(770) 57 CONT					19-0026 TACT:	
			Kevin McCann					a Storey			John					Brooks			Clifford Fea					men Okoro	
Building	Sq. Ft.	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Month	s Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Month	ns Annual Cost
GROUP D North Libraries							,, ,																		
Original Term 2021																									
al Sq. ft.	25,000																								
nable Sq. Ft.	21,000	\$0.09	\$1,890.00	12	\$22,680.00	\$0.13	\$2,730.00	12	\$32,760.00	\$1.03	\$1,802.50	12	\$21,630.00	\$1.50	\$2,625.00	12	\$31,500.00	\$1.45	\$2,537.50	12	\$30,450.00	\$0.10	\$2,100.00	12	\$25,200.00
on	25.000																								
II Sq. ft. Inable Sq. Ft.	25,000 21,000	\$0.09	\$1,890.00	12	\$22,680.00	\$0.13	\$2,730.00	12	\$32,760.00	\$1.03	\$1,802.50	12	\$21,630.00	\$1.50	\$2,625.00	12	\$31,500.00	\$1.45	\$2,537.50	12	\$30,450.00	\$0.10	\$2,100.00	12	\$25,200.00
khead																									
Il Sq. ft.	19,488	¢0.00	¢4 470 00	40	¢47.070.00	60.40	¢0.040.00	40	¢25.250.00	¢0.00	¢4.044.44	40	¢4.4.500.00	64.00	¢4.044.04	40	¢04 770 40	¢4.45	¢4.070.04	40	¢00 700 50	¢0.40	¢4 007 00	40	¢40.044.00
wood	16,370	\$0.09	\$1,473.30	12	\$17,679.60	\$0.18	\$2,946.60	12	\$35,359.20	\$0.89	\$1,214.11	12	\$14,569.30	\$1.33	\$1,814.34	12	\$21,772.10	\$1.45	\$1,978.04	12	\$23,736.50	\$0.10	\$1,637.00	12	\$19,644.00
al Sq. ft.	6,200																								
anable Sq. Ft.	5,208	\$0.12	\$624.96	12	\$7,499.52	\$0.17	\$885.36	12	\$10,624.32	\$0.90	\$390.60	12	\$4,687.20	\$1.39	\$603.26	12	\$7,239.12	\$1.45	\$629.30	12	\$7,551.60	\$0.10	\$520.80	12	\$6,249.60
t Atlanta al Sq. ft.	7,500																								
anable Sq. Ft.	6,300	\$0.12	\$756.00	12	\$9,072.00	\$0.17	\$1,071.00	12	\$12,852.00	\$0.90	\$472.50	12	\$5,670.00	\$2.03	\$1,065.75	12	\$12,789.00	\$1.45	\$761.25	12	\$9,135.00	\$0.10	\$630.00	12	\$7,560.00
rkwood	7.500																								
tal Sq. ft. eanable Sq. Ft.	7,500 6,300	\$0.12	\$756.00	12	\$9,072.00	\$0.21	\$1,323.00	12	\$15,876.00	\$0.90	\$472.50	12	\$5,670.00	\$2.03	\$1,065.75	12	\$12,789.00	\$1.45	\$2,537.50	12	\$9,135.00	\$0.10	\$630.00	12	\$7,560.00
rtheast Regional																									
al Sq. ft.	25,000		•••••							• • • •												• • • •			
anable Sq. Ft. thside	21,000	\$0.09	\$1,890.00	12	\$22,680.00	\$0.18	\$3,570.00	12	\$45,360.00	\$1.03	\$1,802.50	12	\$21,630.00	\$1.50	\$2,625.00	12	\$31,500.00	\$1.45	\$1,123.50	12	\$30,450.00	\$0.10	\$2,100.00	12	\$25,200.00
al Sq. ft.	11,070																								
eanable Sq. Ft.	9,298	\$0.12	\$1,115.76	12	\$13,389.12	\$0.20	\$1,859.60	12	\$22,315.20	\$0.90	\$697.35	12	\$8,368.20	\$1.50	\$2,625.00	12	\$31,500.00	\$1.45	\$1,153.83	12	\$13,482.10	\$0.10	\$929.80	12	\$11,157.00
amsville/Collier Heights al Sq. ft.	11,368																								
eanable Sq. Ft.	9,549	\$0.12	\$1,145.88	12	\$13,750.56	\$0.18	\$1,718.82	12	\$20,625.84	\$0.90	\$716.18	12	\$8,594.10	\$1.33	\$1,030.53	12	\$12,366.34	\$1.45	\$1,097.65	12	\$13,846.05	\$0.10	\$954.90	12	\$11,458.80
nce de Leon																									
al Sq. ft. eanable Sq. Ft.	10,815 9,084	\$0.12	\$1,090.08	12	\$13,080.96	\$0.16	\$1,453.44	12	\$17,441.28	\$1.03	\$779.71	12	\$9,356.52	\$1.33	\$1,058.35	12	\$12,700.17	\$1.45	\$2,407.12	12	\$13,171.80	\$0.10	\$908.40	12	\$10,900.00
swell Branch						·												·							
tal Sq. ft.	23,716																								
eanable Sq. Ft. ndy Springs	19,921	\$0.10	\$1,992.10	12	\$23,905.20	\$0.13	\$2,589.73	12	\$31,076.76	\$1.03	\$1,709.89	12	\$20,518.63	\$1.50	\$2,490.13	12	\$29,881.50	\$1.45	\$3,089.46	12	\$28,885.45	\$0.10	\$1,982.10	12	\$23,785.20
al Sq. ft.	30,438																								
anable Sq. Ft.	25,568	\$0.09	\$2,301.12	12	\$27,613.44	\$0.13	\$3,323.84	12	\$39,886.08	\$1.03	\$2,194.59	12	\$26,335.04	\$1.50	\$3,196.00	12	\$38,352.00	\$1.45	\$2,537.50	12	\$37,073.60	\$0.10	\$2,556.80	12	\$30,681.60
al Sq. ft.	25,000																								
anable Sq. Ft.	23,000	\$0.09	\$1,890.00	12	\$22,680.00	\$0.13	\$2,730.00	12	\$32,760.00	\$1.03	\$1,802.50	12	\$21,630.00	\$1.50	\$2,625.00	12	\$31,500.00	\$1.45	\$2,537.50	12	\$30,450.00	\$0.10	\$2,100.00	12	\$25,200.00
rthwest Atlanta																									
al Sq. ft. anable Sq. Ft.	25,000 21,000	\$0.09	\$1,890.00	12		\$0.11	\$2,310.00	10	\$27,720.00	\$1.03	\$1,802.50	10	\$21,630.00	\$1.50	\$2,625.00	10	\$31,500.00	\$1.45	\$2,537.50	12	\$30,450.00	\$0.10	\$2,100.00	10	\$25,200.00
st Roswell	21,000	φυ.υσ	ψι,030.00	12	\$22,680.00	φυ.ΤΙ	ψ ∠, 310.00	12	ΨΖΙ,ΙΖΟ.ΟΟ	φι.υο	ψ1,002.30	١Z	ψ21,030.00	φ1.5U	φ2,023.00	12	ψ51,500.00	ψ1.4J	φ2,337.30	12	ψ 30,430.0 0	φ υ. Ι υ	<i>Ψ</i> ∠,100.00	12	φ23,200.00
tal Sq. ft.	15,000																								
eanable Sq. Ft. tal Cost for Janitorial Services	12,600	\$0.12	\$1,512.00	12	\$18,144.00 \$266,606.40	\$0.14	\$1,764.00	12	\$21,168.00 \$398,584.68	\$1.03	\$1,081.50	12	\$12,978.00 \$224,896.99	\$1.50	\$1,575.00	12	\$18,900.00 \$337,915.23	\$1.45	\$1,522.50	12	\$18,270.00 \$356,987.10	\$0.10	\$1,260.00	12	\$15,120.00 \$262,557.60
					+===;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;				+,				₩ ,030.33				+				+				<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>
AND TOTAL:					\$1,090,669.20				\$1,391,091.23				\$881,298.75				\$1,382,928.32				\$1,378,366.37				\$1,273,868.0
		NO RESPONSE:						C																	
S RECEIVED:		NO-BIDS:				CONTACT: Cons	suela Glass, APA, Te	am C														DATE COMPLET			
												BID TABUL	ATION SHEET												
NUMBER# 21ITB125258C-CG DESCRIPTION: Janitorial Services	for Selected Fulton	County Facilities	(Groups C. D.& C)						OPENING DATE:	4/20/2021					PAGE NUMBER:									2 of 3	
UESTING DEPARTMENT: Real Est			VENDOR CODE				VENDO	R CODE			CONT				VENDO	R CODE			VENDOR	RCODE			VENDO	OR CODE	
			VENDOR CODE				VENDO				VENDOR				VENDO				VENDOR					OR NAME	
		LG	C Global Energy FM	, LLC			United Maintenan	nce Company, Inc,			Buckhead Elite Cons	truction Trust, I	LLC		Pritchard Globa	al Security, LLC			All Bright Jani	torial Service					
ч	7310 Woodward	Ave.	ADDRESS		Detroit,		ADDF 1550 S. India	ana Avenue			ADDR 3535 Peachtree Ro		3		ADDI 3645 Marketplace	RESS Blvd., Ste 130-641			ADDR 492 Maco				ADD	RESS	
			MI 48202 TELEPHONE				Chicago	, II 60605			Atlanta, G	A 30326			Atlanta, (GA 30344 PHONE			McDonuogh	, GA 30253			TEL EL	PHONE	
			(313) 263-5020 CONTACT:				(312) 92 CONT	22-8558			(770) 850 CONT	6-6828				52-9079			(470) 23 CONT	6-0991				TACT:	
			Tusher Patel				Vicki Rose	en-Sanetra			Denise	Edlow			Rohan	Brown									
Building	Sq. Ft.	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Month	s Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Month	ns Annual Cost
GROUP D North Libraries																									

												BID TABULA	TION SHEET												
BID NUMBER# 21ITB125258C-CG									OPENING DATE:	4/20/2021					PAGE NUMBER:									2 of 3	
BID DESCRIPTION: Janitorial Services for	or Selected Fulton	n County Facilities (Groups C. D & G)												TAGE NOMBER.									2013	
REQUESTING DEPARTMENT: Real Estat			-								CON	ІТАСТ													
			VENDOR CODE				VENDOR	CODE			VENDO	DR CODE			VENDOR	CODE			VENDOR	CODE			VENDOR	CODE	
			ATLA172992-A				VS00000	22827			VS000	0073404			VS00000	63451			VS00000)7048			VS00000	28215	1
			VENDOR NAME				VENDOR	NAME			VENDC	DR NAME			VENDOR	NAME			VENDOR	NAME			VENDOR	NAME	4
		Ameri	can Facility Services	s, Inc.			A-Action Janitori	al Service, Inc.			3H Service	System, Inc.			Brooks Environment	tal Solutions, LL	С	QCS Cle	eaning, Inc. /DBA Qua	ity Cleaning Ser	rvices, Inc.		Chi-Ada Cor	rporation	
			ADDRESS				ADDR	ESS			ADD	ORESS			ADDRI	ESS			ADDRI	SS			ADDRI	ESS	
			on Industrial Court, Alpharetta, GA 30004				6607 Tribb Lithonia, G					nketts Road GA 30519		4062 Peachtree R	oad NE, A631 GA 30	240	Brookhaven,		6308 Linecr Douglasvilkle				5482 Ocone Douglasville,		
		F	TELEPHONE				TELEPH					PHONE			TELEPH				TELEPH				TELEPH		1
			(770) 740-1613				(678) 526)26-3169			(470) 384				(770) 572				(404) 219		
			CONTACT:				CONTA					TACT:			CONTA				CONTA				CONTA		
			Kevin McCann				Barbara					n Heo			Marco B				Clifford Feat				Bartholome		
lo Building	Sq. Ft.	Sa ft Cost	Monthly Cost	Term- 12 Month	s Annual Cost	Sa ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost	Term- 12 Months	Annual Cost	Sq. ft Cost	Monthly Cost 7	Torm 12 Months	Annual Cost	Sa ft Cost	Monthly Cost	erm- 12 Months	Annual Cost	Sq. ft Cost M	lonthly Cost	Ferm- 12 Months Annual Cost	
o Building	. Эч. г	Sq. ft Cost	Wontiny Cost		S Annual Cost	Sq. ft Cost	Wontiny Cost		Annual Cost	3q. 11 COSt			Annual Cost	34. 11 6031				Sq. ft Cost							1
Total Sq. ft.	25,000																								4
Cleanable Sq. Ft.	21,000	\$0.1984	\$4,167.88	12	\$50,014.56	\$0.179	\$3,757.11	12	\$45,085.35	\$0.087	\$1,827.00	12	\$21,924.00	\$0.48	\$10,080.00	12	\$120,960.00	N/B	N/B	12	N/B			12	1
) Milton	25.000																								
Total Sq. ft. Cleanable Sq. Ft.	25,000 21,000	\$0.1984	\$4,167.88	12	\$50,014.56	\$0.177	\$3,717.09	12	\$44,605.10	\$0.087	\$1,827.00	12	\$21,924.00	\$0.48	\$10,080.00	12	\$120,960.00	N/B	N/B	12	N/B			12	
1 Buckhead	21,000	Ψ0.100 1	÷.,	14	÷••••••	\$5.111	ψ σ ,ι ι ι ι σ		÷ 1 1,000 10		÷1,021.00	14	¥=1,027.00	ψυιτυ	÷ · · · · · · · · · · · · · · · · · · ·	14	÷.20,000.00			• -				· -	
Total Sq. ft.	19,488																								
Cleanable Sq. Ft.	16,370	\$0.1984	\$3,248.96	12	\$38,987.54	\$0.151	\$2,465.68	12	\$29,588.14	\$0.087	\$1,424.19	12	\$17,090.28	\$0.48	\$7,857.00	12	\$94,291.00	N/B	N/B	12	N/B			12	
2 Dogwood																									
Total Sq. ft.	6,200																								
Cleanable Sq. Ft.	5,208	\$0.1984	\$1,033.63	12	\$12,403.61	\$0.186	\$969.94	12	\$11,639.29	\$0.090	\$468.72	12	\$5,624.64	\$0.48	\$2,496.00	12	\$29,952.00	N/B	N/B	12	N/B			12	NON
East Atlanta																									RES
Total Sq. ft.	7,500	•																							PON
Cleanable Sq. Ft. Kirkwood	6,300	\$0.1984	\$1,250.36	12	\$15,004.37	\$0.183	\$1,155.15	12	\$13,861.75	\$0.090	\$567.00	12	\$6,804.00	\$0.48	\$3,024.00	12	\$36,288.00	N/B	N/B	12	N/B			12	SIVE
Total Sq. ft.	7,500																								VENI
Cleanable Sq. Ft.	6,300	\$0.1984	\$1,250.36	12	\$15,004.37	\$0.183	\$1,155.15	12	\$13,861.75	\$0.090	\$567.00	12	\$6,804.00	\$0.48	\$3,024.00	12	\$36,288.00	N/B	N/B	12	N/B			12	DORS
5 Northeast Regional																									S ANE
Total Sq. ft.	25,000																								0 OTF
Cleanable Sq. Ft.	21,000	\$0.1984	\$4,167.88	12	\$50,014.56	\$0.177	\$3,713.76	12	\$44,565.15	\$0.087	\$1,827.00	12	\$21,924.00	\$0.48	\$10,080.00	12	\$120,960.00	N/B	N/B	12	N/B			12	
6 Northside																									NFOR
Total Sq. ft.	11,070																								RMAT
Cleanable Sq. Ft.	9,298	\$0.1984	\$1,845.38	12	\$22,144.54	\$0.222	\$2,060.90	12	\$24,730.78	\$0.090	\$836.82	12	\$10,041.84	\$0.48	\$4,463.00	12	\$53,556.00	N/B	N/B	12	N/B			12	NOI
7 Adamsville/Collier Heights Total Sq. ft.	11,368																								1
Cleanable Sq. Ft.	9,549	\$0.1984	\$1,895.19	12	\$22,742.34	\$0.165	\$1,572.83	12	\$18,873.93	\$0.090	\$859.41	12	\$10,312.92	\$0.48	\$4,583.00	12	\$54,996.00	N/B	N/B	12	N/B			12	
8 Ponce de Leon					·····	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			<i><i><i>v</i>¹0,010100</i></i>				<i>•••••••</i>	**	+ 1,000100										
Total Sq. ft.	10,815																								
Cleanable Sq. Ft.	9,084	\$0.1984	\$1,802.91	12	\$21,634.87	\$0.187	\$1,694.17	12	\$20,330.01	\$0.90	\$817.56	12	\$9,810.72	\$0.48	\$4,360.00	12	\$52,320.00	N/B	N/B	12	N/B			12	
Roswell Branch																									
Total Sq. ft.	23,716																								-
Cleanable Sq. Ft.	19,921	\$0.1984	\$3,953.73	12	\$47,444.77	\$0.181	\$3,602.30	12	\$43,227.65	\$0.089	\$1,772.97	12	\$21,275.64	\$0.48	\$9,562.00	12	\$114,744.00	N/B	N/B	12	N/B			12	
0 Sandy Springs	00.105																								
Total Sq. ft. Cleanable Sq. Ft.	30,438 25,568	\$0.1984	\$5,074.49	10	\$60,893.92	\$0.172	\$4,402.15	12	\$52,825.79	\$0.088	\$2,249.98	12	\$26,999.76	\$0.48	\$12,272.00	10	\$147,264.00	N/B	N/B	10	N/B			12	
Fulton Library at Ocee	23,300	φυ. 1904	φ3,074.43	12	φ00,093.9Z	φυ.172	ψ 1 ,402.13	12	φJ2,023.19	ψυ.υοσ	φζ,ζ43.30	12	φ20,333.70	φυ.40	ψι <i>Ζ</i> , <i>Ζ</i> / <i>Ζ</i> .ΟΟ	12	φ147,204.00			12				12	
Total Sq. ft.	25,000																								
Cleanable Sq. Ft.	21,000	\$0.1984	\$4,167.88	12	\$50,014.56	\$0.177	\$3,717.74	12	\$44,612.85	\$0.087	\$1,827.00	12	\$21,924.00	\$0.48	\$10,080.00	12	\$120,960.00	N/B	N/B	12	N/B			12	
Northwest Atlanta																									
Total Sq. ft.	25,000																								
Cleanable Sq. Ft.	21,000	\$0.1984	\$4,167.80	12	\$50,014.56	\$0.176	\$3,704.49	12	\$44,453.92	\$0.087	\$1,827.00	12	\$21,924.00	\$0.48	\$10,080.00	12	\$120,960.00	N/B	N/B	12	N/B			12	-
3 East Roswell																									
Total Sq. ft.	15,000																								
Cleanable Sq. Ft.	12,600	\$0.1984	\$2,500.73	12	\$30,008.74	\$0.172	\$2,171.42	12	\$26,057.08	\$0.089	\$1,121.40	12	\$13,456.80	\$0.48	\$6,048.00	12	\$72,576.00	N/B	N/B	12	N/B			12	
Total Cost for Janitorial Services					\$238,376.54				\$478,318.54				\$237,840.60				\$1,297,075.00				N/B				
					#4 000 0 · ·	,			¢4.007.016.45				*• • • • • • • • • • 				¢0.000 (T0.00				#070 000 0				
GRAND TOTAL: BIDS MAILED		NO RESPONSE:			\$1,620,318.27	1			\$1,837,840.18				\$3,447,814.92				\$3,909,179.00				\$676,620.00	DATE RECEIVED:			
BIDS RECEIVED:		1 NO-BIDS:				CONTACT: Cons	uela Glass, APA, Tea	am C														DATE RECEIVED: DATE COMPLETED:			
							,, 																		

BID NUMBER# 21ITB125258C-CG BID DESCRIPTION: Janitorial Services for Selected Fulton (REQUESTING DEPARTMENT: Real Estate and Asset Manage		lities (Groups							OPENING DATE:	4/20/2021					PAGE NUMBER:									3 of 3	
EQUESTING DEPARTMENT: Real Estate and Asset Manage		lities (Groups																							
						1					<u> </u>	ITACT													
- - 1.			VENDOR CO								VENDO	DR CODE													
-			ATLA17299					000022827				0073404				0063451				0007048				0028215	
- 1		Δme	VENDOR N/ erican Facility S					OR NAME torial Service, Ir	nc.			OR NAME System, Inc.		R		OR NAME ental Solutions, L	LC	QCS Clean		OR NAME	ervices. Inc.			DR NAME	
1			ADDRES					DRESS				DRESS				ORESS			ADD					DRESS	
	1325 Union Ir		ırt		Suite		6607 T	ribble Street			1610 Plu	nketts Road			4062 Peachtre	e Road NE, A631			6308 Line	crest Drive			5482 Oc	onee Drive	
		4	A Alpharetta, G					a, GA 30058 EPHONE			•	GA 30519 PHONE				en, GA 30319 PHONE				kle, GA 30134 PHONE				lle, GA 30135 PHONE	
			(770) 740-1					526-7421				926-3169				384-9223				72-1440				219-0026	
			CONTAC					NTACT:				ITACT:				TACT:				TACT:				ITACT:	
			Kevin McC					ara Storey				m Heo				Brooks				eatherstone				men Okoro	
	Sq. Ft.	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost
GROUP G North Senior Centers Original Term 2021 IG Darnell		_																							
	33,000																								
Cleanable Sq. Ft. (Less Kitchen)	24,019	\$0.08	\$1,921.52		\$23,058.24	\$0.23	\$5,524.37		\$66,292.44	\$0.82	\$1,641.30		\$19,695.58	\$1.31	\$2,622.07		\$31,464.89	\$1.25	\$2,501.97		\$30,023.75	\$0.095	\$2,281.81		\$27,381.72
Premium Event=100				\$18.00	\$1,800.00			\$28.00	\$2,800.00			\$16.25	\$1,625.00			\$42.63	\$4,263.00				\$2,500.00			\$20.00	\$2,000.00
North Fulton (Warsaw)	44.400																								
•	11,102 9,326	\$0.10	\$932.60		\$11,191.20	\$0.22	\$2,051.72		\$24,620.64	\$0.82	\$637.28		\$7,647.32	\$1.31	\$1,018.09		\$12,217.06	\$1.25	\$971.45		\$11,657.50	\$0.105	\$979.23		\$11,750.76
DC Benson	-,	.					,		,, T	.			,., 	÷	,., 		,	- -				÷ 5.100			, ,.
	37,964																								
Cleanable Sq. Ft. (Less Kitchen)	28,767	\$0.08	\$2,301.36		\$27,616.32	\$0.19	\$5,465.73		\$65,588.76	\$0.82	\$1,965.75		\$23,588.94	\$1.31	\$3,140.40		\$37,684.77	\$1.25	\$2,996.56		\$35,958.75	\$0.095	\$2,732.87		\$32,794.44
Premium Event=100				\$18.00	\$1,800.00			\$28.00	\$2,800.00			\$16.25	\$1,625.00			\$42.63	\$4,263.00				\$2,500.00			\$20.00	\$2,000.00
Dogwood																									
Total Sq. ft.	7,155																								
Cleanable Sq. Ft.	6,010	\$0.10	\$601.00		\$7,212.00	\$0.29	\$1,742.90		\$20,914.80	\$0.82	\$410.68		\$4,928.20	\$1.96	\$981.63		\$11,779.60	\$1.25	\$626.04		\$7,512.50	\$0.105	\$631.05		\$7,572.60
New Horizons																									
Total Sq. ft.	7,000																								
Cleanable Sq. Ft.	5,880	\$0.10	\$588.00		\$7,056.00	\$0.23	\$1,352.40		\$16,228.80	\$0.82	\$401.80		\$4,821.60	\$1.26	\$617.40		\$7,408.80	\$1.25	\$612.50		\$7,350.00	\$0.105	\$617.40		\$7,408.80
TOTAL COST					\$79,733.76				\$199,305.44				\$63,931.64				\$109,081.12				\$97,502.00				\$86,908.32
North Senior Centers (Day Porters)																									
Facilities Name Da	Daily Hours	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year
H.G. Darnell	16	251	4,016	\$16.00	\$64,256.00	251	4,016	\$17.25	\$69,276.00	251	4,016	\$14.75	\$59,236.00	251	4,016	\$17.27	\$69,356.32	251	4,016	\$15.00	\$60,240.00	251	4,016	\$18.00	\$72,288.00
North Fulton (Warsaw)	5	251	1,255	\$16.00	\$20,080.00	251	1,255	\$17.25	\$21,648.75	251	1,255	\$15.25	\$19,138.75	251	1,255	\$17.27	\$21,673.85	251	1,255	\$15.00	\$18,825.00	251	1,255	\$18.00	\$22,590.00
D.C. Benson	16	251	4,016	\$16.00	\$64,256.00	251	4,016	\$17.25	\$69,276.00	251	4,016	\$14.75	\$59,236.00	251	4,016	\$17.27	\$69,356.32	251	4,016	\$15.00	\$60,240.00	251	4,016	\$18.00	\$72,288.00
Dogwood	5	251	1,255	\$16.00	\$20,080.00	251	1,255	\$17.25	\$21,648.75	251	1,255	\$15.25	\$19,138.75	251	1,255	\$17.27	\$21,673.85	251	1,255	\$15.00	\$18,825.00	251	1,255	\$18.00	\$22,590.00
lew Horizons	5	251	1,255	\$16.00	\$20,080.00	251	1,255	\$17.25	\$21,648.75	251	1,255	\$15.25	\$19,138.75 \$175,000,05	251	1,255	\$17.27	\$21,673.85	251	1,255	\$15.00	\$18,825.00	251	1,255	\$18.00	\$22,590.00
otal for Day Porters	47	251	11,797	\$16.00	\$188,752.00	251	11,797	\$17.25	\$203,498.25	251	11,797		\$175,888.25	251	11,797	\$17.27	\$203,734.19	251	11,797	\$15.00	\$176,955.00	251	11,797	\$18.00	\$212,346.00
Total Cost for North Senior Centers Total Cost for Cleanable Sq Ft for North Seniors (General									• • • • •								• • • •				• • •				
Cleaning)					\$76,133.76				\$193,705.44				\$60,681.64				\$100,555.12				\$92,502.50				\$86,908.32
Total Cost for Day Porter Services for North Senior Centers					\$188,752.00				\$203,498.25				\$175,888.25				\$203,734.19				\$176,955.00				\$212,346.00
Total Annual Cost for North Senior Centers (includes Premium Annual Cost)					\$3,600.00				\$199,305.44				\$63,931.64				\$109,081.12				\$5,000.00				\$4,000.00
Total Annual Cost North Centers, Porter and Preium Event Services					\$268,485.76				\$402,803.69				\$239,819.89				\$312,815.31				\$274,457.50				\$303,254.32
GROUP G Central Senior Centers Original Term 2021																									
	Sq. ft Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost
Edgewood (Auburn)																									
	5,451	AA					A A A A A A A A A A			AA AC				A				A					A = 10 - 17		A
Cleanable Sq. Ft. Helene S. Mills	4,579	\$0.10	\$457.90		\$5,494.80	\$0.40	\$1,831.60		\$21,979.20	\$0.82	\$312.90		\$3,754.78	\$1.47	\$560.93		\$6,731.13	\$1.45	\$553.29		\$6,639.55	\$0.12	\$549.48		\$6,593.76
	34,000																								
Cleanable Sq. Ft. (Less Kitchen)	25,514	\$0.08	\$2,041.12	•	\$24,493.44	\$0.22	\$5,613.08		\$67,356.96	\$0.82	\$1,743.46		\$20,921.48	\$1.31	\$2,785.28	-	\$33,423.34	\$1.45	\$3,082.94		\$36,995.30	\$0.12	\$3,061.68		\$36,740.16
Premium Event=100 TOTAL COST				\$18.00	\$1,800.00 \$31,788.24			\$28.00	\$2,800.00 \$92,136.16			\$16.25	\$1,625.00 \$26,301.26			\$42.63	\$4,263.00 \$44,417.47			\$25.00	\$2,500.00 \$46,134.85			\$20.00	\$2,000.00 \$43,333.91
Central Senior Center (Day Porters)					ψ31,700.24				ψ32,130.10				ψ20,301.20				Ψ -7 , 7 1/.4/				ψτυ, ι 34.03				Ψ τ υ,υυυ.91
	Daily Hours	Days Per		Cost Per Hour	Cost Per Year	Days Per	Hours Per	Cost Per Hour	Cost Per Year	Days Per	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per	Hours Per Year	Cost Per Hour	Cost Per Year	Davs Per Year	Hours Per Year	Cost Per Hour	Cost Per Vear	Days Per	Hours Per Year	Cost Per Hour	Cost Per Year
	5	Year 251	Year 1,255	\$16.00	\$20,080.00	Year 251	Year 1,255	\$0.00	\$21,648.75	Year 251	1,255	\$15.25		Year 251	1,255	\$17.27	\$21,673.85	251	1,255	\$15.00	\$18,825.00	Year 251	1,255	\$20.00	\$25,100.00
Edgewood (Auburn) Helene S. Mills	5 16	251 251	1,255 4,016	\$16.00	\$20,080.00 \$64,256.00	251 251	1,255 4,016	\$0.00	\$21,648.75 \$69,276.00	251 251	1,255 4,016	\$15.25 \$14.75	\$19,138.75 \$59,236.00	251 251	4,016	\$17.27 \$17.27	\$21,673.85 \$69,356.32	251	1,255 4,016	\$15.00	\$18,825.00 \$60,240.00	251 251	1,255 4,016	\$20.00	\$25,100.00 \$80,320.00
Total for Day Porters	21	251	5,271	\$16.00	\$84,336.00	251	5,271	\$0.00	\$90,924.75	251	5,271		\$78,374.75	251	5,271	\$17.27	\$91,030.17	251	5,271	\$15.00	\$79,065.00	251	5,271	\$20.00	105420
Fotal Cost for Central Senior Centers																									
Total Cost for Cleanable Sq Ft for Central Seniors (General Cleaning)					\$29,988.24				\$89,336.16				\$24,676.26				\$40,154.47				\$43,634.85				\$43,333.76
Total Cost for Day Porter Services for Central Senior Centers					\$84,336.00				\$90,924.75				\$78,374.75				\$91,030.17				\$79,065.00				\$105,420.00
Total Annual Cost for Central Senior Centers (includes					\$1,800.00				\$92,136.16				\$26,301.26				\$44,417.17				\$2,500.00				\$2,000.00
Premium Annual Cost) Total Annual Cost Central Centers, Porter and Preium																									
Event Services					\$116,124.24				\$182,272.32				\$104,676.01				\$135,447.64				\$125,199.85				\$148,753.76
					\$1,090,669.20				\$1,391,091.23				\$881,298.75				\$1,382,928.32				\$1,378,366.37	7			\$1,273,868.08
BRAND TOTAL: BIDS MAILED		NO RESPONS NO-BIDS:	SE:				onsuela Glass, <i>I</i>		φι,33ι,091.23				φοοι,298.73				ψι,J0Ζ,ΫΖŌ.JΖ				φι,370,300.37	DATE RECEIV			ψι, <i>∠ι</i> ૩,00ö.U8

BID NUMBER# 21ITB125258C-CG									OPENING DATE:	4/20/2021			ON SHEET		PAGE NUMBER	R:								3 of 3
DESCRIPTION: Janitorial Services for Selected Fulton		ilities (Groups	s C, D & G)																					
REQUESTING DEPARTMENT: Real Estate and Asset Mana	agement			CODE			VE	NDOR CODE				NTACT OR CODE			VEND	OR CODE			VENDO	OR CODE			VENDO	DR CODE
		LG	VENDOR N GC Global Energ					NDOR NAME enance Company	y, Inc,	E	VEND Buckhead Elite Co	OR NAME	t, LLC			OR NAME	.			OR NAME			VENDO	DR NAME
			ADDRES	SS			ŀ	ADDRESS				DRESS				DRESS			ADI	DRESS			ADD	RESS
u u			7310 Woodwa Detroit, MI 4					Indiana Avenue ago, II 60605			3535 Peachtree Atlanta	e Road, Ste. 520- a, GA 30326	168			ce Blvd., Ste 130- a, GA 30344	641			icon Street gh, GA 30253				
			TELEPHO	ONE			TE	ELEPHONE			TEL	EPHONE			TEL	EPHONE			TELE	EPHONE			TELE	PHONE
			(313) 263-					2) 922-8558				856-6828				252-9079				236-0991			0.01	7407
			CONTAC Tusher Pa					CONTACT:				NTACT: se Edlow				NTACT: an Brown			CON	NTACT:			CON	TACT:
Building	Sq. Ft.	\$/Per Sq. Ft.	Monthly Cost	Premium Cost	Annual Cost	\$/Per Sq. Ft.	Monthly Cost	Premium Cost	Annual Cost	\$/Per Sq. Ft.	Monthly Cost	Premium Cost	Annual Cost	\$/Per Sq. Ft.	Monthly Cost	Premium Cost	Annual Cost	\$/Per Sq. Ft.	Monthly Cost	Premium Cost	Annual Cost	\$/Per Sq. Ft.	Monthly Cost	Premium Cost Der Hour
	04.11.	Cost		Per Hour		Cost		Per Hour		Cost		Per Hour	Annual Cost	Cost		Per Hour		Cost		Per Hour	Annual 003t	Cost	Montiny Cost	Per Hour
GROUP G North Senior Centers Original Term 2021																								
HG Darnell	22.000		ļ'																					
Total Sq. ft. Cleanable Sq. Ft. (Less Kitchen)	33,000 24,019	\$0.1698	\$4,707.48		\$56,489.76	\$0.157	\$3,778.41		\$45,340.95	\$0.0999	\$2,399.50		\$28,794.00	\$0.34	\$8,166.00		\$97,992.00	N/B	N/B		N/B			
Premium Event=100				\$20.84	\$2,084.00			\$27.95	\$2,795.00			\$12.00	\$1,200.00			\$23.25	\$2,323.00	N/B	N/B	N/B	N/B			
North Fulton (Warsaw) Total Sq. ft.	11,102		· · · · · · · · · · · · · · · · · · ·																					
Cleanable Sq. Ft.	9,326	\$0.1698	\$1,583.76		\$19,005.18	\$0.197	\$1,835.03		\$22,020.39	\$0.0999	\$931.67		\$11,180.04	\$0.34	\$3,170.00		\$38,040.00	N/B	N/B		N/B			
DC Benson	27.004																							
Total Sq. ft. Cleanable Sq. Ft. (Less Kitchen)	37,964 28,767	\$0.1698	\$5,415.64		\$64,987.67	\$0.150	\$4,312.39		\$51,748.67	\$0.0999	\$2,873.82		\$34,485.84	\$0.34	\$9,780.00		\$117,360.00	N/B	N/B		N/B			
Premium Event=100				\$20.84	\$2,084.00			\$27.95	\$2,795.00			\$12.00	\$1,200.00			\$23.25	\$2,325.00	N/B	N/B	N/B	N/B			
Dogwood Total Sq. ft.	7,155																							
Cleanable Sq. Ft.	6,010	\$0.1698	\$1,020.63		\$12,247.60	\$0.200	\$1,201.40		\$14,416.77	\$0.0999	\$600.40		\$7,204.80	\$0.34	\$2,043.00		\$24,516.00	N/B	N/B		N/B			
New Horizons Total Sq. ft.	7,000		<u> </u> '																					
Cleanable Sq. Ft.	5,880	\$0.1698	\$998.56		\$11,982.68	\$0.203	\$1,196.02		\$14,352.23	\$0.0999	\$587.41		\$7,048.92	\$0.34	\$1,999.00		\$23,988.00	N/B	N/B		N/B			
TOTAL COST			'		\$168,880.88				\$153,469.01				\$91,113.60				\$306,546.00	N/B	N/B		N/B			
North Senior Centers (Day Porters) Facilities Name	Daily Hours	Days Per	Hours Per	Cost Per Hour	Cost Per Year	Days Per	Hours Per	Cost Per Hour	Cost Per Year	Days Per	Hours Per Vear	Cost Per Hour	Cost Per Year	Days Per	Hours Per Vea	r Cost Per Hour	Cost Per Vear	Dave Per Vear	Hours Per Vea	r Cost Per Hour	Cost Per Vear	Days Per	Hours Per Vear	Cost Per Hour Cost Per Year
H.G. Darnell	16	Year 251	Year 4,016	\$20.84	\$83,693.44	Year 251	Year 4,016	\$24.70	\$99,195.32	Year 251	4,016	\$12.00	\$48,192.00	Year 251	4,016	\$15.50	\$62,248.00	251	4,016	N/B	N/B	Year 251	4,016	
North Fulton (Warsaw)	5	251	1,255	\$20.84	\$26,154.20	251	1,255	\$24.06	\$30,190.97	251	1,255	\$12.00	\$15,060.00	251	1,255	\$15.50	\$15,160.40	251	1,255	N/B	N/B	251	1,255	
D.C. Benson Dogwood	16 5	251 251	4,016 1,255	\$20.84 \$20.84	\$83,693.44 \$26,154.20	251 251	4,016	\$24.70 \$24.06	\$99,195.32 \$30,190.97	251 251	4,016 1,255	\$12.00 \$12.00	\$48,192.00 \$15,060.00	251 251	4,016 1,255	\$15.50 \$15.50	\$62,248.00 \$19,452.00	251 251	4,016	N/B N/B	N/B N/B	251 251	4,016 1,255	
New Horizons	5	251	1,255	\$20.84	\$26,154.20	251	1,255	\$24.06	\$30,190.97	251	1,255	\$12.00	\$15,060.00	251	1,255	\$15.50	\$19,452.00	251	1,255	N/B	N/B	251	1,255	
Total for Day Porters Total Cost for North Senior Centers	47	251	11,797	\$20.84	\$245,849.48	251	11,797		\$288,963.55	251	11,797	\$12.00	\$141,564.00	251	11,797	\$15.50	\$182,853.00	251	11,797	N/B	N/B	251	11,797	
Total Cost for Cleanable Sq Ft for North Seniors (General			'		\$164,712.88				\$147,879.01				\$91,113.60				\$301,896.00				N/B			
Cleaning) Total Cost for Day Porter Services for North Senior			'																					
Centers			ļ'		\$245,849.48				\$288,963.55				\$141,564.00				\$182,853.00				N/B			
Total Annual Cost for North Senior Centers (includes Premium Annual Cost)					\$4,168.00				\$5,590.00				\$2,400.00				\$306,546.00				N/B			
Total Annual Cost North Centers, Porter and Preium Event Services					\$414,730.36				\$442,432.55				\$235,077.60				\$489,399.00				N/B			
GROUP G Central Senior Centers		_																						
Original Term 2021																								
Building	Sq. ft Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour	Annual Cost	\$/Per Sq. Ft. Cost	Monthly Cost	Premium Cost Per Hour Annual Cost
Edgewood (Auburn)																								
Total Sq. ft.	5,451	¢0.4000	* 777.07		¢0.000.40	¢0.000	¢4,400,50		¢44.000.00	* 0.0000	¢457.04		¢5 400 70	* 0.40	¢0.407.00		* 200.2004.00		N/D		N/D			
Cleanable Sq. Ft. Helene S. Mills	4,579	\$0.1698	\$777.67		\$9,332.13	\$0.262	\$1,199.50		\$14,393.96	\$0.0998	\$457.81		\$5,493.72	\$0.48	\$2,197.00		\$26,364.00	N/B	N/B		N/B			
Total Sq. ft.	34,000																							
Cleanable Sq. Ft. (Less Kitchen) Premium Event=100	25,514	\$0.1698	\$4,333.19	\$20.84	\$51,998.24 \$2,084.00	\$0.168	\$4,288.12	\$27.95	\$51,457.44 \$2,795.00	\$0.0998	\$2,550.89	\$12.00	\$30,610.68 \$1,200.00	\$0.48	\$12,246.00	\$23.25	\$146,952.00 \$ 2,325.00	N/B	N/B	N/B	N/B			
TOTAL COST					\$63,414.37				\$68,646.40			+ · ====	\$37,304.40				\$ 2,325.00				N/B			
Central Senior Center (Day Porters)																								
Facilities Name	Daily Hours	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	r Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Yea	r Cost Per Hour	Cost Per Year	Days Per Year	Hours Per Year	Cost Per Hour Cost Per Year
	5	251	1,255	\$20.84	\$26,154.20	251	1,255	\$24.11	\$30,251.98	251	1,255	\$12.00	\$15,060.00	251	1,255	\$15.50	\$19,452.00	251	1,255	N/B	N/B	251	1,255	
		251	4,016	\$20.84	\$83,693.44	251	4,016	\$24.76	\$99,419.01	251	4,016	\$12.00	\$48,192.00	251	4,016	\$15.50	\$62,248.00	251	4,016	N/B	N/B	251	4,016	
Edgewood (Auburn)	16		,	\$20.84	\$109,847.64	251	5,271		\$129,670.99	251	5,271	\$12.00	\$63,252.00	251	5,271	\$15.50	\$81,700.00	251	5,271	N/B	N/B	251	5,271	
Edgewood (Auburn) Helene S. Mills	16 21	251	5,271	ψ20.04																				
Edgewood (Auburn) Helene S. Mills Total for Day Porters Total Cost for Central Senior Centers	16 21		5,271	Ψ20.04																				
Edgewood (Auburn) Helene S. Mills Total for Day Porters Total Cost for Central Senior Centers Total Cost for Cleanable Sq Ft for Central Seniors	16 21		5,271	φ20.04	\$61,330.37				\$65,851.40				\$37,304.40				\$173,316.00				N/B			
Edgewood (Auburn)Helene S. MillsTotal for Day PortersTotal for Cantral Senior CentersTotal Cost for Central Senior CentersTotal Cost for Cleanable Sq Ft for Central Seniors (General Cleaning)Total Cost for Day Porter Services for Central Senior	16 21		5,271		\$61,330.37 \$109,847.64				\$65,851.40 \$129,670.99				\$37,304.40 \$63,252.00				\$173,316.00 \$81,700.00				N/B			
Edgewood (Auburn)Helene S. MillsTotal for Day PortersTotal for Central Senior CentersTotal Cost for Central Senior CentersTotal Cost for Cleanable Sq Ft for Central Seniors (General Cleaning)Total Cost for Day Porter Services for Central Senior Centers	16 21		5,271		\$109,847.64				\$129,670.99				\$63,252.00				\$81,700.00				N/B			
Edgewood (Auburn) Helene S. Mills Total for Day Porters Total Cost for Central Senior Centers Total Cost for Cleanable Sq Ft for Central Seniors (General Cleaning) Total Cost for Day Porter Services for Central Senior	16 21		5,271																					

LATION	SHEET

BIDS MAILED		NO RESPON
BIDS RECEIVED:	11	NO-BIDS:

S	Ε	:	

C
C

DATE RECEIVED: DATE COMPLETED: